> oK

Question

E—-bRTROEERZ RIS,
E—-s—-REVEIRED?

Answer

E—bER7HKIE. 7D A EREEIC
EROEHE EFISEALTEREES0,. HEITRTY,
b—4—RFe—2—TRBHTEHITOICHL.
E—bROTRRBERUAEZREXAATEILET,

BE—rRUTKIETE—F—RKOKBIRIZERAT) IORT LK B IEREIZDUNT,
HEBEHELERAKEEERLELE,

X A—H—DOHAOTEESEIZLTVET,
X GEYOkgEI GE~LIREELZISGETHRLTVET,

HEBHELK

E—poity T2t 620Wh

e—5—=
GropR) 2,150Wh

1,000 2,000 3,000
SHEEHE(Wh)

ERKELE

E—hf Tt 49l @

E—4—=
(kmERIE) 88L

100
fERkEL)

OkgDEBYME LB~ IR 1BELZ5E. E— MR TR IFE—2—HKITHER
SHEEHSEHAN1 /3, FRKENMIFDTEOIENHLMEL,
E—2—RIEREMENFETTIEBENEN S BIRICFERAT Ie—4%—
DAHTHEAKELELZIRYET,

(BZFEMIRER—LTIFATIRM) EBELER HBEH  RETRE BEaHI0T 20135855 LY
TW-Z9500 L(E—FRUT=) . TW-G530L(E—4—=) DEBE %S H(Z1ER
(C)RERE



